ELIZBL

1300 ENTERPRISE ROAD

GENEVA, ALABAMA 36340-0580

800-239-4621

FAX 1-800-508-1469

www.reliablelouvers.com

5DDWRDC WIND-DRIVEN RAIN RESISTANT STATIONARY LOUVER

MIAMI-DADE, FLORIDA BUILDING CODE APPROVED
MIAMI-DADE COUNTY, FLORIDA NOTICE OF ACCEPTANCE NUMBER: 16-0217.04 (EXPIRES 2/23/2021)

STANDARD CONSTRUCTION
FRAME
Box frame, 5" (127) deep, 6063T6 extruded
aluminum with .081" (2.1) nominal wall thick-
ness. Downspouts and caulking provided.
Universal Installation Frame: Same material
and gages as above with flange.

BLADES

6063T6 extruded aluminum .060" (1.5)
nominal wall thickness. Double drainable
blades are sightproof.

SCREEN
5/8" x .040" (16 x 1) expanded flattened alu-
minum bird screen in removable frame.

FINISH
Mill.

MINIMUM SIZE
12"w x 12"h (305 x 305).

APPROXIMATE SHIPPING WEIGHT
10 Ibs. per sq. ft. (49 kg/m?)

MAXIMUM FACTORY ASSEMBLY SIZE
Single section: (Varies) 90"w x 112"h (2286 x
3658) or 144"w x 90"h (3658 x 2286)
Field Assembly: Unlimited width x 144”h
(3658). Multiple section louvers will be shipped
in single sections and must be joined together
in the field by the installer. Section joint splice
hardware is provided. Sections may not be
stacked in height without a horizontal
structural member supplied by others.
Openings taller than the maximum louver
height will need to be divided into multiple
openings with suitable structural members.
Structural members are not designed or
provided by Reliable.

INSTALLATION
The 5SDDWRDC must be installed per the
appropriate Installation Detail. Reference the
appropriate separate Installation Instruction
Sheet.

Consult Reliable for additional information.

o~

/

FEATURES

Various frame construction for use in cast-
inplace concrete, grout filled, CMU, Wood and
steel installations.

* Maximum windload +120 PSF (5.75 kPa).
Horizontal blades minimize the penetration of
wind-driven rain, reducing dam-age and
additional operating expenses.

47% Free Area.

Published performance ratings based on testing
in accordance with AMCA Publication 511 & 512.
Excellent pressure drop performance.

Aluminum construction for low maintenance and
high resistance to corrosion

VARIATIONS
Universal Flange Frame construction when fas-
teners penetrating the wall are not utilized.
Extended sill.
Front or rear security bars.
Filter racks.
Universal sleeve.
Blank off panels.
Integral flange.
Drip cap.
A variety of bird and insect screens.
Selection of finishes: prime coat, 50% PVDF
(modified fluoropolymer), epoxy, Pearledize 50
& 70, 70% PVDF, clear and color anodize.
(Some variation in anodize color consistency is
possible).

Consult Reliable for other special requirements.

5DDWRDC meets the requirements for
the following:
¢ Miami Dade NOA Approval 16-0217.04

F-Yaaler-1 IMPACT

IS RESISTANT
|... )

] LOUVER
| (|} Basic Protection Level D

LISTED

» See www.AMCA.org for all certified or listed products

amca CYCLETESTED
s PER AMCA 540

LISTED

» See www.AMCA.org for all certified or listed products

PeYa g ers) HIGH VELOCITY
FEAON RAIN RESISTANT
||| |" " WITH BLADES FULLY CLOSED

LISTED

'« See www.AMCA.org for all certified or listed products

5DDWRDC-0720 Replaces 5DDWRDC-0320

Reliable Products certifies that the
5DDWRDC  shown  herein s
approved to bear the AMCA Listing
Label. The ratings shown are based
on tests and procedures per-formed
in  accordance  with  AMCA
Publications and comply with the
requirements of the AMCA Listing
Label Program.

The AMCA Listing Label applies to

Wind Borne Debris Impact Resistant
Louvers (with optional CD40, CD50,
or SD60 damper in the closed
position).

This label does not signify

AMCA

certification.

25
=<
22
£z

ALL STATED SPECIFICATIONS ARE SUBJECT TO CHANGE WITHOUT NOTICE OR OBLIGATION.

Please provide Rough Opening dimensions for A & B dimensions.

Unless ordered as actual size, louver will be provided 1/4" (6) small-
er than the “A” and “B” dimensions provided.

Dimensions in inches, parenthesis () indicate millimeters.

©Reliable July 2020



SUGGESTED SPECIFICATION

Furnish and install louvers as hereinafter specified where shown on
plans or as described in schedules. Louvers shall possess station-

Louvers shall be Reliable Model 5DDWRDC extruded 6063T6 alu-
minum alloy construction as follows:

ary horizontal blades designed to prevent the penetration of wind MATERIAL
driven rain. Louver blades shall be contained within a 5" (127) Frame: .081" (2.1) wall thickness, caulking surfaces
frame. Extended sill shall be provided to capture and drain water to provided.
exterior of building. Louver components (heads, jambs, sill and Blades: .060" (1.5) wall thickness.
blades) shall be factory assembled by the louver manufacturer. Extended Sill:  .081" (2.1) wall thickness, with upturned side
Louver sizes too large for shipping shall be built up by the contrac- panels to prevent water leakage.
tor from factory assembled louver sections to provide overall sizes Screen: 5/8" x .040" (16 x 1) expanded, flattened alu-
required. Louver design shall limit single span between visible mul- minum bird screen in removable frame.
lions to 10’ (3048). Finish: Select finish specification from Reliable Finishes

Brochure.

STRUCTURAL DESIGN

Integral structural supports shall be designed and furnished by the
louver manufacturer to carry a wind load of not less than +120 psf
(5.74 kPa).

WATER PENETRATION GRAPH

Test size 48" x 48" (1219 x 1219)

Beginning point of water penetration at .01 0z./sq. ft. is above 1250 fpm (381 m/min.)

0.3
(3.23)
0.25
© (2.69)
o
1™
<
o
2 0.2
i .
° 2.15
58
=%
Ea
=
@ 8 0.15
g 2 (e
€ £
—E
£ © 0.1
= :
1.08
o (1.08)
©
=
N
0.05
o (.54)
X
0
1100 1200 1300
(335) (366) (396)

WIND-DRIVEN RAIN PERFORMANCE

WATER

PERFORMANGCE

am
movement "Q

AND CONTROL '%
associATIon %o
InTennaTIoNAL 10.° ©

Reliable Products certifies that the louver
shown herein is licensed to bear the
AMCA Seal. The ratings shown are based
on tests and procedures performed in
accordance with AMCA Publication 511
and comply with the requirements of the
AMCA Certified Ratings Program. The
AMCA Certified Ratings Seal applies to air
performance ratings, water penetration rat-
ings and wind driven rain ratings only.

Test size is Tm x 1m (39" x 39") core area, 1.04m x 1.12m (41" x 44") nominal. Free Area of test louver is 5.45 ft* (.51m?).

- . Rain Fall . . Free Area .
Wr'::hvfklgﬁ;ty Rate In./hr. c%‘:n:,?:/g')ty‘ A'(';I:gxi:;m Velocity, Effe;t;\;ﬁ)ness Class; ,
(mm/hr.) fpm (m/sec.)

29 (46.4) 3(76) 586 (3.0) 6310 (179) 1158 (5.9) 99.0% A

50 (80.0) 8 (203) 293 (1.5) 3152 (89) 3152 (89) 99.0% A
NOTES
1. Core area is the open area of the louver face (face area less 3. Wind Driven Rain Penetration Classes:

louver frames). Core Velocity is the airflow velocity through the Class Effectiveness
Core Area of the louver (1m x 1m). A 1t0.99 C 0.949 t0 0.80

2. Free Area of test size is calculated per AMCA standard 500-L. B 0.989 t0 0.95 D Below 0.8



FREE AREA GUIDE

Free Area Guide shows free area in ft2 and m? for various sizes of 5DDWRDC.
Width — Inches and Meters

0.30 045 060 0.75 090 105 120 135 150 165 180 195 210 225 240 255 270 285 300

2| o028 0.45 0Eg2 0.80 0.7 114 132 143 1E6 18z 20 21 235 253 270 287 305 322 33
030| 003 0.04 0.08 0.07 0.03 o 01z 014 015 017 013 0.20 0.22 0.23 0.25 027 0.28 0.30 0.3z

B 043 n7a 109 140 170 200 23 261 291 322 362 382 4713 443 473 504 B34 f R4 594
045 005 0.07 010 013 06 0713 01 024 027 030 033 0.36 03 04 044 047 050 052 065

24 070 113 156 ) 243 286 330 73 476 450 503 5.46 590 633 E7E 720 TE3 206 850
060 006 0.0 015 013 023 027 031 035 033 043 047 051 055 053 063 067 07 075 073

el 050 147 203 ) 3. 372 429 485 541 098 E54 Al TE 823 880 936 992 0.43 noe
075] om 0.8 02z 0.27 033 033 045 051 057 0E2 068 0.74 080 0.86 092 0498 104 110 15

el i 181 260 320 383 458 5.28 5.97 EE7 736 8.05 8.75 944 10.14 083 152 22z 1291 1361
0390) om 0 0.23 0.30 0.36 043 043 0.56 062 0.E8 0.7s 0.1 n.eg 0.94 1m .07 114 120 127

4z | 132 27 297 379 482 B.44 E.27 709 782 8.74 9.56 0.2 na 12.04 12.86 1369 1451 15.33 6.6
105] 02 020 0.28 0.35 043 0.51 058 0.E8 074 0.8 0. 0.97 104 112 120 127 135 143 150

43 1E0 2E0 360 453 559 B.53 759 8.59 958 068 1168 1268 13568 ME7 BE7 1BE7 757 1867 1956
1200 o\ 0.24 0.33 0.43 052 0.61 071 0.80 0.89 0.98 108 117 126 136 145 154 163 173 182

54 181 294 407 519 632 745 858 971 084 1396 1309 w22 1535 T6.48 1760 BT 1386 2093 212
135 orw 027 03a 0.48 053 0E3 080 080 im i 122 132 143 1563 164 174 185 195 206

0 202 328 454 579 7.05 kel 57 083 1209 T334 1460 586 1712 1m|ae 1964 2083 2275 224 2467
150 03 030 042 0.54 056 077 083 1o 112 124 136 148 159 171 183 194 206 21\ 229

66 223 362 500 B33 778 AR 056 nse 1334 .73 BT 1750 1883 20.28 2187 2306 | 2445 | 2883 | 2722
165| 021 034 047 053 072 085 0398 m 124 137 150 163 176 183 202 21 227 240 253

2 2 396 547 E.93 851 10.03 1585 1307 14.59 1 17.63 13.14 2066 | 2218 | 2370 | 2522 | 2674 | 2826 | 2478
1680 023 037 0.51 0.ES 073 093 107 122 136 150 164 178 192 2.06 220 235 243 263 277

Height — Inches and Meters

|z 4.41 E10 7.7 943 11 12.87 14.58 1B.26 17.95 19.64 2133 | 2303 | 2472 | 264 2810 | 2980 | 3148 3318
195 025 0.41 087 07z 0.8s 104 120 135 151 167 183 198 214 230 248 261 277 293 3.08

84| 232 475 E57 833 .22 1204 1386 THES 1751 1933 2116 2298 | 2480 | 2662 | 2844 | 3027 | 3208 3391 3674
21| 027 0.44 0.61 0.78 0.95 112 129 148 163 180 197 21 23 248 265 281 2.98 A 332

30 313 503 7.04 8493 095 1280 1485 T6.80 1876 2071 2266 2462 | 2657 | 2B52 | 3048 | 3243 | 3438 | 3634 | 3829
2258| 029 0.47 0.65 084 102 120 138 156 174 193 21 229 247 265 283 302 320 338 356

96 334 5.43 .51 953 Tes 376 1584 17.93 20m 2209 247 2626 | 2834 | 2042 2m 3453 | 36EB | 3876 | 40.84
240] 03 050 070 083 .09 128 147 167 196 205 225 244 264 283 302 322 X 360 380

2| 388 576 7.98 nm za B2 683 13.05 2126 2347 | 2563 27.90 30m 3233 | 3454 | 3E7D | 3BIY 4118 43.40
255 033 054 074 095 115 136 157 177 138 218 233 253 280 30 34 342 362 383 4.04

nE | 3TE 6.10 845 079 1314 15.48 17.82 2017 2261 | 2485 | 2720 | 2954 | 3183 | 3423 | 3L | 382 | 46 4361 | 4595
270 038 057 073 100 12z 144 166 188 208 23 2.53 275 297 38 340 3E2 384 4.06 427

| 404 E.5E a.07 k] LAl 1663 1314 2168 2418 | 2670 | 282 JF3 | 3425 | 36YT | 3928 | 480 | 4432 | 4684 | 4935
285 038 0.6t 0.84 108 131 155 178 20 228 248 272 2.95 31 342 3.8 389 412 4.36 4.59

20 425 EA0 954 21 14.84 17.43 2013 2278 | 2543 | 2808 | 3072 3337 | 3B02 | 3BE7 4132 4396 4661 4826 A191
3000 o040 0.64 089 113 138 163 187 212 236 261 286 3 335 360 384 409 433 458 483

PRESSURE DROP
Test size 48”wide x 48” high (1219 x 1219).

1.00 (248) 1.00 (248)
90 (224) 90 (224)
80 (199) 80 (199)
70 (174) 70 (174)
60 (149) 60 (149)
50 (124) 50 (124)
.40 (100) .40 (100)
< - 75 Ratings do not
o .30 (75 .30 (75 .
= include the effect
ey | .
g of a bird screen.
= 20 (50) EXHAUST/ / INTAKE 20 (50)
n
]
L
3]
£
c 10 (25) -10 (25)
= .09 (22) .09 (22)
o .08 (20) .08 (20)
o 07 (17) 07 (17)
(] .06 (15) .06 (15)
o .05 (12) 7 .05 (12)
= /
” .04 (10) .04 (10)
7] 7y
< /
a .03 (7) .03 (7)
/
02 (5) v .02 (5)
01 (2 01 (2
S = O ) s T © ©oIooD
e e 2 d © 2388 5 5 & &QLYRS
S S = = £ T o adde
(=] (=] o o o Oo0oo0o0o0 (=] o o o © 0000
o o o o O OO0 O0OO0 (=] o o S © 0000
- o ) < N ONOOOO o o =} o © O0O0O
- o (3 < N © NOO o

Air Velocity in feet and (meters) per minute through Free Area
(Data corrected to standard air density and AMCA figure tested to 5.5)



AMCA550 DAMPER OPTIONS

CONTROL DAMPER

CD40 (Thin Line Control Damper)

(The CD40 combines the lowest leakage attainable-6¢fm/sq.ft. at 4”w.g. with thin line, 4” overall depth when the damper is completely open.)
» Damper Frame and Blade Depth 4”

* Max Single Section 60"x72”

* Opposed Blade

+ Mill Finish

» Factory-Installed, pneumatic and electric actuators

* SP100 Switch Package

» Jack shafted or Extended Shaft option

» Concealed Linkage

CD50

(The CD50 is a low Leak, extruded aluminum damper designed with air foil blades for higher velocities and pressure HVAC systems. |t
meets the leakage requirements of the International energy Conservation Code by leaking less than 3cfm.sq.ft. at 1” of static pressure and is
AMCA licensed as a Class 1A damper)

* Air Leakage AMCA Class 1A

» Damper Frame Depth is 5” and Blade width is 6”

* Max Single Section 60"x72”

* Opposed Blade

+ Mill Finish

» Factory-Installed, pneumatic and electric actuators

» SP100 Switch Package

» Jack shafted or Extended Shaft option

» Concealed Linkage

SMOKE DAMPER

SD60 (UL555S Leakage Class 1 Damper)

(The SD60 is an ultra-low leakage rated smoke damper used in ducts that penetrate smoke rated barriers.)
» Air Leakage Class 1

» Damper Frame Depth is 5” and Blade width is 6”

* Max Single Section 48"x72”

* Opposed Blade

+ Mill Finish

» Factory-Installed, pneumatic and electric actuators
* SP100 Switch Package

» Jack shafted or Extended Shaft option

» Concealed Linkage



FRAME CONSTRUCTION

1 1/2" MIN. EDGE
DISTANCE

3" /—STRUCTURE (NIRC
@
[ ==
Ml
[ Max. | - H e H

3/8 -16 X 4° LG GRADE 2 BOLT
W/ LOCKNUT AND WASHER, 3"
FROM ENDS AND 12° MAX C-C.

#10-16 X 17 LG TEK SCREWS 2"
0.C. MAX

- 11/2* X 1 1/2° X 1/4* X 2° LG
ALUM CLIP ANGLES, 4 FROM
CORNERS, 12° MAX OC.

/i HEAD & SILL DETAIL: WOOD INSTALL

11/2" X 11/72" X 174" X
CONTINUOUS ALUM CLIP ANGLE.
ATTACHED TO LOUVER W/ #12

\Z/ NTS.

STEEL SUBSTRATE 16 GA
MIN. THICKNESS

1

MIN.
"EDGE DIST.
1/4%9 BOLT W/ WASHER

& LOCKNUT

1/8"

I MAX.

11/72" X 11/2" X 1/4" X 2
LG ALUM CLIP ANGLES. 3“
FROM CORNERS, 12° MAX OC.

(2 #10 TEK SCREWS

/3 HEAD & SILL DETAIL: STEEL INSTALL

\Z/ NTS.

3000 MIN. PSI CONCRETE

1749 HILTI KWIK HUS-EZ
W/ 1 5/8" MIN EMBED

| 4" MIN.
EDGE DIST.

(2> #10 TEK SCREWS

1 1/2'x1 1/2"x2" - 4" FROM
CORNERS & 12 MAX O.C.

/5 HEAD & SILL DETAIL: CONCRETE INSTALL

\Z/ NTS.

v oo cnvaee (3003-H14)>
OM CORNERS & 12" MAX OC.

1/4"¢ HILTI KWIK BOLT III
EXPANSION ANCHOR 2“ MIN EMBED

e L] 4* MIN,
[ Max. |

@ 2" x 8"

3/8 -16 X 4° LG GRADE 2 BOLT
W/ LOCKNUT AND WASHER, 3" 2" x 12°
FROM ENDS AND 12° MAX C-C.

#10-16 X 1" LG TEK
SCREWS 27 0.C. MAX

1 172" MIN
EDGE DISTANCE

TEK SCREWS, 3” MAX C-C.

i
3
|

/2 JAMB DETAIL: WOOD INSTALL

\Z/ NTS.

1172 X 11/2° X 1/4* X
CONT. ALUM CLIP ANGLE

ANCHOR OR FASTENER
BY ENGINEER OF RECORD

17 MIN.
EDGE DIST.

#10-16 X 1 172" LG TEK
SCREWS 2“ O.C. MAX

L or unv
/4N JAMB DETAIL: STEEL INSTALL

\Z/ NTS.

11/2" X 11/72" X 1/4" X
CONT. ALUM CLIP ANGLE

ANCHOR OR FASTENER
BY ENGINEER OF RECORD

4" 5

EDGEI_D.ISI_

#10-16 X 1 1/2" LG TEK

SCREWS 27 O.C. MAX 3000 MIN. PSI CONCRETE

4.

la
—’I— 1/8" MAX.

/8 JAMB DETAIL: CONCRETE INSTALL

=/ NTS.

1 1/2% X (D-1" X 1/4* THK X 2" LG
FORMED ALUM ANGLE (3003-H14> 4
FROM CORNERS & 12° MAX OC.

1/4* BOLT W/ WASHER & LOCKNUT
2) #10 TEK SCREWS

/3 HEAD & SILL DETAIL: CMU BLOCK INSTALL

\Z/ N.TS.

[ pu——

o
E ]
——I—3/16'MAX.

/8 JAMB DETAIL: CMU BLOCK INSTALL

\Z/ N.TS.



FRAME CONSTRUCTION

D 1 172" X 1 172" X 1/4*
THK X CONT. <6063-T6)

1/4'¢ TEK SCREWS
6" MAX O.C.

2" X (D+3°) X 174" THK X FULL
WIDTH FORMED ALUM SLEEVE
(3003-H14> ATTACHED TO LOUVER
IN FACTORY

/9 HEAD & SILL DETAIL: UNIVERSAL FLANGE FRAME
\Z/ N.TS.

FRAME CONSTRUCTION ELEVATION

2" X (D + 3 X 1/4" THK

X FULL HEIGHT FORMED ALUM

SLEEVE (3003-H14> ATTACHED
TO LOUVER IN FACTORY 1/4'¢ TEK SCREWS; 6" MAX O.C.

2" X 2° X 174" THK X FULL HEIGHT
ALUM ANGLE (6063-T6>

< D

B
.

/70 JAMB DETAIL: UNIVERSAL FLANGE FRAME
\Z/J N.TS.

Maximum Single
—= Section Width = —
7115/16” (1827)

—— -

Maximum
Height =
120” (3048)

Ship _.I |<_ Section

Maximum Width = Unlimited ——

Maximum Single
—=— Section Width =
7115/16” (1827)

&

Maximum
Height =
120” (3048)

Ship

Maximum Width = Unlimited —

FRONT ELEVATION OF 5DDWRDC LOUVER WITH UFF FRAME

GENERAL NOTES:

1. Reference separate Installation Instruction Sheet for the proper
installation method. Miami-Dade and Florida product approvals are
contingent upon proper installation. It is the installing contractor’s
responsibility to ensure that the louvers are installed properly.

2. Some orders may require special submittal and/or shop drawings

provided by Reliable. Reference these drawings for additional
installation information.

3. Continuous angles and fasteners are supplied and are shipped
loose.

4. Louvers are provided with steel channel supports to be installed
behind the visible mullions.

5. Louvers wider than the maximum single section width will be
shipped in multiple sections and will require field assembly.



	Blank Page



